Bar Modeling Poster Questions

	
Miranda has 3,456 pennies in her piggy bank. Mckinze has 234 fewer pennies in her collection. How many stamps do they have in all? 


	
At a concert, there were 275 men, 137 women, and 189 children. How many more adults than children are there at the concert? 


	
There are 1,432 girls and 1,758 boys at a school. 1,009 of the student wear glasses. How many of the students don’t wear glasses?


	
Vaughn saves $2,095. Savannah saves $456 less than Vaughn. How much money does Savannah save?
 

	
A grocery store sold $1,542 apples on Monday. On Tuesday, 127 more apples were sold. How many apples 
were sold on Tuesday?
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